

## A quote for your consideration!

Based on your business needs, we put the following quote together to help with your purchase decision. Please review your quote details below, then contact your sales rep when you're ready to place your order.

Total: \$ 126,316.89

 Quote number:
 Quote date:
 Quote expiration:
 Deal ID:

 3000029846164.8
 Oct. 16, 2018
 Nov. 15, 2018
 15362870

Company name: Customer number: Phone:
CITY OF MESQUITE 1900469 (972) 216-6286

Sales rep information: Billing Information:

Jennifer Bray CITY OF MESQUITE

Jennifer\_Bray@Dell.com PO BOX 850137
(800) 456-3355 MESQUITE

Ext: 5139135 TX 75185-0137

US (972) 216-6286

## **Pricing Summary**

Item	Qty	Unit Price	Subtotal
OptiPlex 5060 SFF	111	\$858.00	\$95,238.00
Dell 22 Monitor - P2219H	111	\$154.00	\$17,094.00
Dell Professional Soundbar - AE515 - Skype for Business	111	\$40.00	\$4,440.00
APC Back-UPS 850VA UPS Battery Backup (BE850M2)	111	\$85.99	\$9,544.89
		Subtotal:	\$126,316.89
		Shipping:	\$0.00
	Env	ironmental Fees:	\$0.00
	Non-	Taxable Amount:	\$126,316.89
		Taxable Amount:	\$0.00
		Estimated Tax:	\$0.00
		Total:	\$126,316.89

Special lease pricing may be available for qualified customers. Please contact your DFS Sales Representative for details.

# Dear Customer,

Your Quote is detailed below; please review the quote for product and information accuracy. If you find errors or desire certain changes please contact me as soon as possible.

Regards,

Jennifer Bray

Order this quote easily online through your Premier page, or if you do not have Premier, using Quote to Order

SKU	Description	Qty	Unit Price	Subtotal
	OptiPlex 5060 SFF	111	\$858.00	\$95,238.00
	Estimated delivery date: Dec. 5, 2018  Contract No: 75AHH  Customer Agreement No: DIR-TSO-3763			
210-AOTX	OptiPlex 5060 SFF XCTO	111	-	-
338-BNZU	Intel Core i5-8500 (6 Cores/9MB/6T/up to 4.1GHz/65W); supports Windows 10/Linux	111	-	-
619-AHKN	Win 10 Pro 64 English, French, Spanish	111	-	-
658-BCSB	Microsoft(R) Office 30 Days Trial	111	-	-
525-0063	Dell Endpoint Security Suite Enterprise, 5 Years	111	-	-
807-9603	ProSupport for Software, Dell Endpoint Security Suite Enterprise, 5 Years	111	-	-
370-AEBK	8GB (1X8GB) 2666MHz DDR4 UDIMM Non-ECC	111	-	-
400-AWFT	M.2 256GB PCIe NVMe Class 40 Solid State Drive	111	-	-
412-AAMK	Thermal Pad	111	-	-
773-BBBC	M2X3.5 Screw for SSD/DDPE	111	-	-
401-AANH	No Additional Hard Drive	111	-	-
490-BBFG	Intel Integrated Graphics, Dell OptiPlex	111	-	-
325-BCXP	ODD Bezel, Small Form Factor	111	-	-
429-ABFH	8x DVD+/-RW 9.5mm Optical Disk Drive	111	-	-
379-BBHM	No Media Card Reader	111	-	-
555-BBFO	No Wireless LAN Card	111	-	-
340-AFMQ	No Wireless Driver	111	-	-

492-BBFF	No PCIe add-in card	111	-	-
329-BDRI	OptiPlex 5060 Small Form Factor with 200W up to 85% efficient Power Supply (80Plus Bronze)	111	-	-
580-ADJC	Dell KB216 Wired Multi-Media Keyboard English Black	111	-	-
275-BBBW	Dell MS116 Wired Mouse, Black	111	-	-
325-BCZQ	No Cable Cover	111	-	-
379-BBCY	No Additional Cable Requested	111	-	-
817-BBBC	Not selected in this configuration	111	-	-
575-BBBI	No Integrated Stand option	111	-	-
525-BBCL	SupportAssist	111	-	-
640-BBLW	Dell(TM) Digital Delivery Cirrus Client	111	-	-
658-BBMR	Dell Client System Update (Updates latest Dell Recommended BIOS, Drivers, Firmware and Apps)	111	-	-
658-BBRB	Waves Maxx Audio	111	-	-
658-BCUV	Dell Developed Recovery Environment	111	-	-
658-BDVO	Software for OptPlex Systems	111	-	-
620-AALW	OS-Windows Media Not Included	111	-	-
387-BBLW	Energy Star	111	-	-
817-BBBB	No FGA	111	-	-
461-AAEE	Chassis Intrusion Switch SFF	111	-	-
575-BBKX	No Hard Drive Bracket for Small Form Factor, Dell OptiPlex	111	-	-
650-AAAM	No Anti-Virus Software	111	-	-
658-BBTV	CMS Essentials DVD no Media	111	-	-
329-BBJL	TPM Enabled	111	-	-
450-AAOJ	System Power Cord (Philipine/TH/US)	111	-	-
551-BBBJ	No Intel Responsive	111	-	-
389-CGBB	Intel(R) Core(TM) i5 Processor Label	111	-	-
389-BCGW	No UPC Label	111	-	-
340-AGIK	Safety/Environment and Regulatory Guide (English/French Multi-language)	111	-	-

461-AABF	No CompuTrace	111	-	-
332-1286	US Order	111	-	-
340-CDZE	Documentation, English, Spanish, Dell OptiPlex 5060 Small Form Factor	111	-	-
429-ABGY	No External ODD	111	-	-
389-CXHV	SFF EPA Regulatory LBL for Mexico	111	-	-
340-CDWZ	Ship Material for OptiPlex Small Form Factor	111	-	-
389-BBUU	Shipping Label for DAO	111	-	-
631-ABRK	Intel Standard Manageability	111	-	-
492-BCKH	No Additional Video Ports	111	-	-
800-BBIO	Desktop BTO Standard shipment	111	-	-
804-9043	Dell Limited Hardware Warranty Plus Service	111	-	-
804-9044	Onsite/In-Home Service After Remote Diagnosis 3 Years	111	-	-
SKU	Description	Qty	Unit Price	Subtotal
	Dell 22 Monitor - P2219H	111	\$154.00	\$17,094.00
	Estimated delivery date: Dec. 5, 2018  Contract No: 75AHH  Customer Agreement No: DIR-TSO-3763			
210-AQBK	Dell 22 Monitor - P2219H	111	-	-
814-9381	Dell Limited Hardware Warranty	111	-	-
814-9382	Advanced Exchange Service, 3 Years	111	-	-
SKU	Description	Qty	Unit Price	Subtotal
	Dell Professional Soundbar - AE515 - Skype for Business	111	\$40.00	\$4,440.00
	Estimated delivery date: Oct. 23, 2018  Contract No: 75AHH  Customer Agreement No: DIR-TSO-3763			
520-AALQ	Dell Professional Soundbar AE515 Skype for Business	111	-	-
SKU	Description	Qty	Unit Price	Subtotal
	APC Back-UPS 850VA UPS Battery Backup (BE850M2)	111	\$85.99	\$9,544.89
	APC back-or3 630VA OF3 backery backup (bl630M2)	111	φου.99	φ9,544.69
	Estimated delivery date: Nov. 5, 2018	111	Ф03.99	ψ9,544.69

	Contract No: 75AHH			
	Customer Agreement No: DIR-TSO-3763			
A9406597	APC Back-UPS 850VA UPS Battery Backup (BE850M2)	111	-	-

**Subtotal:** \$126,316.89

Shipping: \$0.00 Environmental Fees: \$0.00

Estimated Tax: \$0.00

Total: \$126,316.89

Unless you have a separate written agreement that specifically applies to this order, your order is subject to Dell's Terms of Sale (for consumers the terms include a binding arbitration provision). Please see the legal disclaimers below for further information.

### Important Notes

### Terms of Sale

Unless you have a separate written agreement that specifically applies to this order, your order will be subject to and governed by the following agreements, each of which are incorporated herein by reference and available in hardcopy from Dell at your request: Dell's Terms of Sale (www.dell.com/learn/us/en/uscorp1/terms-of-sale), which include a binding consumer arbitration provision and incorporate Dell's U.S. Return Policy (www.dell.com/returnpolicy) and Warranty (for Consumer warranties; for Commercial warranties).

If this purchase includes services: in addition to the foregoing applicable terms, the terms of your service contract will apply (Consumer; Commercial). If this purchase includes software: in addition to the foregoing applicable terms, your use of the software is subject to the license terms accompanying the software, and in the absence of such terms, then use of the Dell-branded application software is subject to the Dell End User License Agreement - Type A (www.dell.com/AEULA) and use of the Dell-branded system software is subject to the Dell End User License Agreement - Type S (www.dell.com/SEULA).

If your purchase is for Mozy, in addition to the foregoing applicable terms, your use of the Mozy service is subject to the terms and conditions located at <a href="https://mozy.com/about/legal/terms">https://mozy.com/about/legal/terms</a>.

If your purchase is for Boomi services or support, your use of the Boomi Services (and related professional service) is subject to the terms and conditions located at https://boomi.com/msa.

If this purchase is for (a) a storage product identified in the DELL EMC Satisfaction Guarantee Terms and Conditions located at

http://www.emc.com/collateral/sales/dellemc-satisfaction-guarantee-terms-and-conditions\_ex-gc.pdf("Satisfaction Guarantee") and (ii) three (3) years of a ProSupport Service for such storage product, in addition to the foregoing applicable terms, such storage product is subject to the Satisfaction Guarantee.

You acknowledge having read and agree to be bound by the foregoing applicable terms in their entirety. Any terms and conditions set forth in your purchase order or any other correspondence that are in addition to, inconsistent or in conflict with, the foregoing applicable online terms will be of no force or effect unless specifically agreed to in a writing signed by Dell that expressly references such terms.

#### Pricing, Taxes, and Additional Information

All product, pricing, and other information is valid for U.S. customers and U.S. addresses only, and is based on the latest information available and may be subject to change. Dell reserves the right to cancel quotes and orders arising from pricing or other errors. Please indicate any tax-exempt status on your PO, and fax your exemption certificate, including your Customer Number, to the Dell Tax Department at 800-433-9023. Please ensure that your tax-exemption certificate reflects the correct Dell entity name: **Dell Marketing L.P.** 

Note: All tax quoted above is an estimate; final taxes will be listed on the invoice.

If you have any questions regarding tax please send an e-mail to Tax\_Department@dell.com.

For certain products shipped to end-users in California, a State Environmental Fee will be applied to your invoice. Dell encourages customers to dispose of electronic equipment properly.